To match the content in the Essentials textbook, these things on this page will be changed in the Review materials—but (with apologies) not before your Review Quiz. 

This list covers enough that you can still get the question right on the Review Quiz and not have a problem with the Final.

Quiz Ja
	1
	The explanation for Grant is currently:
This President was associated with scandals at all levels of government and in private business. Scandals included prominent industries of the era (the railroads and stocks), Congress (bribes and the Salary Grab), and the executive branch (including the care of Indians). 

The explanation for Grant will be:
 Although not considered to have profited himself, this President was associated with scandals in government and with private business. Scandals included prominent industries of the era, such as the railroads and Congress (Crédit Mobilier), and bribes such as to avoid paying taxes (Whiskey Ring) and to profit when officially supposed to be caring for the Indians. 

	6.
	The explanation for Truman is currently:
Using the atomic bomb at Hiroshima and Nagasaki, removing MacArthur from command in Korea, containment as the method to deal with the Communists, and a surprise victory over Dewey in 1948 are best associated with this person.

The explanation for Truman will be:
Ending desegregation of the military by executive order, using the atomic bomb at Hiroshima and Nagasaki, removing MacArthur from command in Korea, containment as the method to deal with the Communists, and a surprise victory over Dewey in 1948 are best associated with this person.



Quiz Jb  
	10
	I will remove the question on William James because the textbook does not cover his philosophy-of pragmatism.

The new matching question will be Progressivism
A reform movement in the early 1900s in response to the problems created during the Gilded Age. The reformers were mainly from the middle class. They focused primarily on decreasing the power of big business and trusts, increasing the power of voters in the political process, and dealing with social and economic problems caused by industrialism particularly in urban areas.



Quiz Jc  
	10
	The explanation of Eisenhower is currently:
This individual was commander of the invasion of Western Europe and the leader of the unified operations at Normandy.

The explanation of Eisenhower will be:
This individual was commander of the invasion of Western Europe and the leader of the unified operations at Normandy. He was an extraordinary planner and also manager. He was known for his commitment to the safety of his men and for their deep commitment to him.




Quiz Jd
	2
	The explanation of Columbia is currently:
What country lost Panama when Panama was recognized by the United States?

The explanation for Columbia will be:
What country previously owned Panama as a colony but lost it when Panama was recognized by the United States?

	9
	The explanation for Grant’s “Peace Policy” is currently:
This policy toward Native Americans relied most heavily on herding them onto reservations.

FYI: The textbook discusses this policy but does not use the term “Peace Policy.”



Quiz Je
	1.
	The explanation for William Jennings Bryan is currently:
This individual was the Presidential candidate for both Democratic and Populist Parties, and he gave the “Cross of Gold” speech. He served as Secretary of State, but resigned over Wilson’s policies toward Germany and Great Britain. In the 1920s, he was the prosecutor in the Scopes Trial in Tennessee and his statements helped to discredit fundamentalism in urban areas.

The explanation for William Jennings Bryan will be:
This individual was the Presidential candidate for both Democratic and Populist Parties, and he gave the “Cross of Gold” speech. He served as Secretary of State, but resigned over Wilson’s policies toward Germany and Great Britain. In the 1920s, he was the prosecutor in the Scopes Trial in Tennessee over the teaching of evolution in high school. His statements at that trial helped to discredit fundamentalism in urban areas.



Quiz Jf
	10.
	The explanation for Russia is currently:
In the late 1980s during the presidency of George H. Bush, this country officially ceased to exist and broke into its component parts, with those parts showing strong nationalism and sometimes religious and ethnic issues. 

The explanation for Russia will be:
In the late 1980s during the presidencies of George H. Bush (in the United States) and of Mikhail Gorbachev (in Russia), this country officially ceased to exist and broke into its component parts, with those parts showing strong nationalism and sometimes religious and ethnic issues. 



Quiz Jg
	2
	The explanation for Francis Willard is:
Representative of the reform in the Gilded Age and of the strength of the Prohibition movement was this President of the Women’s Christian Temperance Union.

The explanation for Francis Willard will be:
[bookmark: _GoBack]This President of the Women’s Christian Temperance Union is representative of the reform in the Gilded Age (including the involvement of women) and of the strength of the Prohibition movement that led to the 18th amendment.



